MODE._: et

In a frequency distribution the mode is the value of that variate which have the maximum frequency

Method for determining mode :
M ungrouped dist. : The value of that variate which is repeated maximum number of times

‘Mr ungrouped freg. djst. : The value of that variate which have maximum frequency.
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Mr grouped freq. dist. : First we find the class which have maximum frequency, this is model calss
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RELATION BETWEEN MEAN, MEDIAN AND MODE
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Mode = 3 Median - 2 Mean
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MEASLRES OF DISPERSION -
The dispersion of a_statistical distribution is th‘ measure of deviation l:)f its values about the their average
(central) value.
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@ Mean deviation (M.D.) : The mean deviation of a distribution js/,@e mean of absolute value of

(deviations of variate -from their statistical average (Mean, Median, Mode).
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If A is any statistical average of a distribution then mean deviation about A is defined as

—m
i=1

Mean deviation
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Mean deviation = m (for freq. dist.)

(for ungrouped dist.)
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@Il' the sum of the deviations of 50 observations from
30 1s @ then the mean of these observations i1s

(2019 Main, 12 Janl)
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@arianee and standard deviation : The variance of a distribution is,
of variate from theit;mé It is denoted by &Z or var(x).

The positive square root of the variance are called the standard deviation.

standard deviation = +4+jvariance

Hence

Ee mean of@quares of deviation

It is denoted by o or S.D. \
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Formulae for variance
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(i) for ungrouped dist.
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If the data x;, x5, ..., %, 1s such that the mean of first
four of these is 11, the mean of the remaining six i1s 16
and the sum of squares of all of these 1s 2000, then the
standard deviation of this data1s (2019 Main, 12 April I)
(a) 242 ()~ (c) 4 (d) 2
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(ii) For freq. dist. :
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where u = —
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(iii)|Coefficient of S.D. = - Voonw = S CX;—?&)L
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Coefficient of variation = — X100




The mean of five observations 18 5 and their variance
15 9.20. If three of the given five observations are 1, 3
and 8. then a ratio of other two observations is

(2019 Main, 10 Jan 1)
m 9 (b)y 6:7 (¢c) 10:3 (d) 5:8
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